Commissionerate of School Education-Government
of Andhra Pradesh

Notations :
1.Options shown in green color and with ¥ icon are correct.

2.0ptions shown in red color and with * icon are incorrect.

Question Paper Name : SGT Oriya 2nd July 2025 Shift 2
Subject Name : SGT Oriya
Creation Date : 2025-07-02 18:56:04
Duration : 150
Total Marks : 80
Display Marks: No
Change Font Color : No
Change Background Color : No
Change Theme : No
Help Button : No
Show Reports : No
Show Progress Bar : No

SGT Oriya
Group Number : 1
Group Id : 392266142
Group Maximum Duration : 0
Group Minimum Duration : 150
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 80

Section 1

Section Id : 392266762
Section Number : |
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 16
Number of Questions to be attempted : 16
Section Marks : 8
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 392266877



Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 39226623561 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The magazine “Chandamama™ Was started by
L. Bapu. Ramana
2. Nagireddy, Chakrapani
3, Venkata Parvatheesa Kavulu
4. Andhra Pradesh Children Academy
"QIRIAICN" AGR 2L FAYER

. Qg el
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Options :
1. % 1
2.9 2
3. % 3
4. % 4



Question Number : 2 Question Id : 39226623562 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

Choose correct answer regarding author and book.

6AN@ — 99 ARe A0R QAT 99L @A |

1, Charles Darwin a) David Copperfield
1. Charles Dickens b) War and Peace
iil.  Leo Tolstoy c) Origin of Species
iv.  Donte d) Divine Comedy
1. L . b 1. d 1v. a
2. i.b ii. a iii. ¢ iv. d
3 AL 1. a ii1. b iv. d
4, 1.b . d iii. a V. C
Options :
1% 1
2.% 2
3.¢3

4.% 4



Question Number : 3 Question Id : 39226623563 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

‘Kherai Puja’ belongs to this tribes

1. Gond
2. Koal

3. Bodo
4. Baiga

‘celaIR eI’ ¥Q AIPQIdiE 92 969

L. 6ol
2. 6@
3. 6QI6E
4. QUGll

Options :

1. % 1

2.% 2

3.¥3

4. % 4



Question Number : 4 Question Id : 39226623564 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The concept of ‘Fundamental Duties® of the Indian
Constitution 1s taken from this country constitution
1. Russia
2. England
3. Germany
4. Australia
QG AAANS 6 KA Q ARSI 9@ 6299 AAIINY
QARG

1. Q¥
2 aLal)
3. diet
4. ZIeAMEl

Options :

1.v 1

2.% 2

3.% 3

4.% 4



Question Number : 5 Question Id : 39226623565 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0
‘Stainless steel” invented by
1. Henry Blessemer
2. Thomas Newcom
Harry Brearley
4, Walter Hunt
FRTLIR RIOA QEISR

LS ]

8 62991 6Q646¢1Q)
2. 62RId Geeq
3. 62Q1 Qg

4. GRQ 99

Options :
1. % 1
2.% 2
3.¥3
4. % 4



Question Number : 6 Question Id : 39226623566 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Junk e-mail 1s also called as

1. Spoof
2. Spam
3. Spool
4. Virus

e A-661RQ 946 F1dl LI

L g9
2. Q9
3. 4R
4. QN0
Options :
1. % 1
2.9 2
3. % 3

4.% 4



Question Number : 7 Question Id : 39226623567 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

One famous book “The Daughter of the East.” is written by

1. Taslima Nasreen

2. Sirimavo Bandarunaike
3. Benazir Bhutto

4, Aung San Suu Kyi

60lIGN gda g9Q "Q @OQ AT @ Q4" R8T
1. AN Q1R

2. dogieRl Q99 QI96R

3.  699GQ @6F!

4. X ALY

Options :
1. % 1
2. %2
3.3
4. % 4



Question Number : 8 Question Id : 39226623568 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Name the first Indian businessman who found place in the
cover story of Forbes Magazine

i, Narayana Murthy

2. Dr. Reddy

3. Anil Ambani

4. Azim Hasham Premji

6IAAQ UGRI6R RV 6WACH AR AIRAIA eIl QST
Qe Qe

. QIeIge 98

2. 9Q96qEl
3. QIR AR

4. 2 29 69011

Options :
1. %1
2. % 2
3.% 3
4.9 4



Question Number : 9 Question Id : 39226623569 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Guillain Barre syndrome (GBS) is a
1. Nerve disease
2 Communicable disease

Auntoimmune disorder

(d

4. Type of respiratory mechanism

JReQ QR d6giel (GBS) 9@
1.  9ig6qld

2. QR 6

LS ]
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4. Q@ 9RIea 9149 @l gsliaT

Options :
1. %1
2. % 2
3.¥3
4. % 4



Question Number : 10 Question Id : 39226623570 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The war ship inaugurated by Indian Defense Minister at
Kaliningrad Yantar Shipyard in Russia is

1. INS Vikranth
2. INS Tushil (F-20)
3. INS Kiriti

4, INS Ravath |
QTR FINGRYY AR FY HL6Q VNG GG Q1

QQ JITe @R YR IRF 6298
1. 2R.49.99 G9I8

2. R4, Gala (¢ -20)
3. ARQ.99. @A

4. ARG QANG

Options :
1. % 1
2.9 2
3.% 3
4. % 4



Question Number : 11 Question Id : 39226623571 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

15™ Aero India expo held in this city

1. Jaipur

2. Puducher
3 Calikat

4, Bengaluru

@ 9296 156¢1 96Ql RE2I 9g64dl 9IS 6QR2AM

1. S9ge
2. gqesa
3. Qes
4. 6QFIgQ

Options :

1. %1

2. % 2

3.% 3

4.9 4



Question Number : 12 Question Id : 39226623572 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

49" Imam of Nizari Ismaili Muslims

i Prince Aga Khan - 2

2. Prince Aga Khan - 3

3. Prince Aga Khan - 5

4. Prince Aga Khan - 4

609101 RYIAM FARCISAIRE 496¢1 QEIF]

1. @a 2l I - 2
2 @a 2ol I - 3
3. dRAAM-S

4. @q@; 2ol I - 4

Options :
1. % 1
2.% 2
3.% 3
4. 4



Question Number : 13 Question Id : 39226623573 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Country’s first Robotic godown that run by artificial
mtelligence will be established in this port

1. Ramaya Patnam
2, Bandar
3. Krishna Patnam

4, Surya lanka
ACTIAN ACINERY IOl AAGIRG 6QIQ FalFl 6RUERITR
651IQIE1 G QLA ORI FAULQ -

1. Qg aIgele]

2. QlRIg
3. QU aigais
4. Q@Y U
Options :
1. %1
2.¥2
3.% 3

4, % 4



Question Number : 14 Question Id : 39226623574 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Tropex-2025 1s aimed to
L. Coast guard

2. Production of cars

Tad

Cloud computing
1. Industrial investments

‘6Q160F9-2025" AR QBRGNS
1. 9% 9eal

2. @9 Q@4IYs

3. QeQ /e
4. dg @64
Options :
1.4 1
2. % 2
3.% 3

4. % 4



Question Number : 15 Question Id : 39226623575 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Aryana Sabalenka : Tennis : : Charith Asalanka :

b Gymnastics
2. Cricket

3. Chess

4, Kabadi

2IGIRl ARG : 66049 : | Rl AT :

1. Saedyg
2. @6@9
3. 694
4. @QIE
Options :
1. %1
2.2
3.% 3

4.% 4



Question Number : 16 Question Id : 39226623576 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

One of the following 1s NOT related to artificial intelligence

1. Chat GPT

2, Deep Seek
3. Google Gemini
4. Destination Sink

Q6D CIIQ QG QG 6FRII AL WY@ 6L

1. QIgGPT
2 @ AR
3 ol 69¢16

4. 60966auq det

Options :
1.% 1
2.% 2
3.%3
4.9 4

Section 2
Section Id : 392266763
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions :
Number of Questions to be attempted :
Section Marks :
Maximum Instruction Time :

—_ O ~ 00 o

Sub-Section Number :
Sub-Section Id : 392266878
Question Shuffling Allowed : Yes



Question Number : 17 Question Id : 39226623577 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

According to NCF 2005, evaluation for Grade 1 and 2 should
be conducted in this manner

1. Oral

2, By conducting quiz

3. Through close observation
4, Through written exams

NCF 2005 2gqigl]. g2l 8 8014 6g841Q {auide 98@ QIG6Q
QAULR AGQ

1. edlge

2. 9QQ edes @09l Fial

3. Q89 adieass Flae6a

4. QYo A8 QU6

Options :
1. % 1
2. %2
3.3
4. % 4



Question Number : 18 Question Id : 39226623578 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Minimum age for girls to enter ‘Kasturba Gandhi Girls
Schools’

1. 6 years
2. 8 years
3 10 years
4. 12 years _
‘@LOQI FIF QIR IR’ 6Q F6Q¢ IR T2CIRE AR ARGE]
Qe
1. 6 Q¥
i 8 Q¥
5 10 @F
4. 12 Q¥
Options :
1. % 1
2. % 2
3.3

4.% 4



Question Number : 19 Question Id : 39226623579 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Following road safety rules is a

Social value

2. Democratic value
3. Moral value

4. Aesthetic value

de@ 4odll FYS dINe QQQ! IR
L. A9E FRIe

2. QEIGIRe (RIel

3. 6009 gmyeall

4. 6dRAYICR RIS

Options :
1.v1
2.% 2
3.% 3
4. % 4



Question Number : 20 Question Id : 39226623580 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

This type of Naturalism believes in Charles Darwin’s theory of
evolution

1. Physical Naturalism

= Mechanical Naturalism

()

Biological Naturalism
4. Historical Naturalism

QNG PIRRRR FeR ARIAY Y8 JRIA JIgER9IQ Y9Id @6a
1. 6RIGR geoQIQ

2. 8@ geeeie
3. 6RQ@ Y90QIQ

4. J0RIde 9ol

Options :
1. % 1
2.% 2
3.¥3
4. % 4



Question Number : 21 Question Id : 39226623581 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This statement is true about “Tols” in Bengal

1. ‘Tols” were institutions teaching Urdu and other
subjects
Z “Tols” were vocational training counters for artisans

‘Tols” were institutions teaching Sanskrit and other
Subjects

fod

4, ‘Tols” were administrative centers for the Moghal rulers

QFRIQ "60IR" SULER 9T QRT ARy 26T

[a—

‘60INd’ @9 99° AMIGY FuY LIRS AGAR

2. 691Rd’ " QIECFIew din 2RINee JaSs 6QQl
299
3. ‘60IM PR e AN QL ALIRGQI AQAIQ

4. 6I9R IeIeE AR 601Rd’ gIIdRe 624 26T

Options :
1. %1
2. %2
3.3
4. % 4



Question Number : 22 Question Id : 39226623582 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

According to NEP — 2020, this B.Ed course is available to
those who want to become a teacher with 4 vyears
multidisciplinary Bachelor’s Degree

L 4 years B.Ed Course

2. 2 years B.Ed Course
3. 3 years B.Ed Course
4, 1 year B.Ed Course

NEP - 2020 2gaigl 4 @ aQ@dJRI01 QUIeona @91 QIan
RS Q43, JUR 62919 PIF6R AARE B.Ed QIO

1. 4982 B.EdQI0iQe

2. 2 Q82 B.Ed QI04g¢

3. 3 Q82 B.Ed Q104g¢
S

4, 1 @¥2ll B.Ed QI0iQ¢]

Options :
1. % 1
2. %2
3.%3
4.9 4



Question Number : 23 Question Id : 39226623583 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This 1s NOT the reform regarding exam by NCF 2005 from
the following

E
2.
3.

4.

The exam should not be conducted
Assessment should be conducted as diagnostic activity
Assessment should be comprehensive

Implement Continuous Comprehensive Evaluation

QUMYEQ NCF 2005Q 98! Q18I A°QAQé! 962

l.

~
N

o
3 1

4.

Options :

1.v 1
2.% 2
3.%3
4.% 4

Al ARG AUIR QOG 962
RUILS 6RIKFEINE RILIRRIA FIINER KRR Q5%
RYILE A°QUIAR 6291 AOQ

QAeER TNIAR FAILS 2R QRS A0Q



Question Number : 24 Question Id : 39226623584 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This 1s not a financial register
1. Cash book

2; Acquaintance register

3. Property register
4. Pay-bill Register
gl IR 28R 60Eaq 964

1. Q9Qgee
2. NgWeoq 69649

A¢1R 6QRAR)

LS ]

4. 69-Gn 60G2Q

Options :
1. %1
2.% 2
3.3
4. % 4

Section 3
Section Id : 392266764
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 16
Number of Questions to be attempted : 16
Section Marks : 8
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 392266879
Question Shuffling Allowed : Yes



Question Number : 25 Question Id : 39226623585 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A baby first addresses all men as ‘dady’ and then uses that
term only for his own father. This statement satisfies following
Principle of Development

L.
2;
3.

4.

Development follows a definite direction
Development proceeds from general to specific
Different developments are interdependent

Development 1s a continuous process

e d§ gaerl A9 dodg 'QIdl 69Im d6CRI Q@6 9Q°
QI'U6Q 692 I0Q 6290 &6 JoIw IR MILQ K61 | 9@ 39&
Gl GQl8 1G] Eg9d Qe

1.

(b

Options :
1. % 1
2.9 2
3.%3
4. % 4
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Question Number : 26 Question Id : 39226623586 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“Educational opportunities and school facilities influence the
development of an individual. the correlation between the
school facilities and individual development is high™. This was
mentioned in the book

I: Educational Determinism

2. Hereditary Genius

3. Oxford English Dictionary

4. The Environmental child

"SRG LGl ¥° YRR Gl 964 QUBQ TR JNGQ
@RI | QUIREQ Q2 B RS AQIE F1I6Q AL AR 2R
2N 1" 9% g9ecea enslidiag

1. 9QY6Q4em GoAFae
2. 62Q@9I9l @oud
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Options :
1.¥ 1
2.% 2
3.%3
4. % 4



Question Number : 27 Question Id : 39226623587 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Early Childhood stage 1s

I: According to parents — Gang age

Z. According to psychologists — Troublesome age
3. According to parents — Imitative age

4, According to psychologists — creative age

JIf QIQUIeg adigl 6298

1. JdeQlie QK% — Mg Qad

1o

C16RIARINIT F196Q — AANIFEE Qad

fad

deIfigie AgQI — 2Igead Qa9

4. C6QISRIE A196Q - 4eRdIR @od

Options :
1. %1
2. % 2
3.% 3
4.9 4



Question Number : 28 Question Id : 39226623588 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

Identify the correct statement for “Social development’

1. According to Sorensen. it 1s the attaining of maturity in
social relationship

2 According to Hurlock, ability to work along with other

According to Garret. transformation of a biological
being into a human being.

)

4, According to Maclver. a desired behaviour to live with
others

AT SR AAFe A0R AR 096 *Q
1. 6d60Qdea (1069, Y2l 6298 AIFIFe AHR6q JURe
QAR QAR

2. Qw 1969, ANAIRE 42 F18 QIf Q06! 80!
3. Cl6egw (196Q, 669@ Qi@ FIRQ6R QUISA 634

4. NI AQNeE F106Q. AMAIRE d2 QEQI AR 99 AEQ
28]

Options :
1. % 1
2.% 2
3.¥3
4. % 4



Question Number : 29 Question Id : 39226623589 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Attributing life to non-living things

i Ego centrism

2, Object permanence

3. Animism

4. Super Ego centrism
P19 9L6A V1R 2T YRS

1. 22°699 Q9
2. Q4 99Q gl
3. Q9g€QIQ

4, dQl¥® QIQ

Options :
1. %1
2. % 2
3.¥3
4, % 4



Question Number : 30 Question Id : 39226623590 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Identify the correct statement

N Srintvasa Ramanujan is a mathematical genius but
doesn’t speak English. So there are Inter individual
difference here

R: Two brothers belong to the same family elder brother
can read well and younger one can write well.  So
there are Intra individual differences here

| & S. R both are true

1o

S - true. R - false
S - false. R - true
4, S. R both are false
d0R @2 029 Aa

fod

S: gIRQId QPR K64l FISIoR goal A°de I8 ACS @g
QAU 998 FIQ | 60 AT AR NI
qIgRY QRF |

R QR QRETIGTIAGR0R | 99 QI O  dQUleq  9Q°

686 RN AN 6AYAIER | 66¢ 6ANFFOIER NSNS
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¥ S. R Qe 9o

S - 4oy, R - Gl
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S - ¢leMI, R - Ay

fad

4. S. R @@ el

Options :
1. % 1
2.% 2



3.%3
4.9 4

Question Number : 31 Question Id : 39226623591 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Identify correct statement according to Wallas

H:  Creativity emerges in the form of a sudden flash
in Insight stage

S Creativity 1s evaluated in Proving stage
1. ‘H” only true
2. ‘S” only true

H. S both are true
4. H. S both are false
@giRIg 21 0] 8 06 @9 |

e

H 29393 adiig6q 9eadies 9@ 20Iq gId Q6d adeld
S:  9eedIRcig geld AdUgea RIS QAN

1. 6@ew ‘H 96

2. 6@9@ ‘S’ Ao

H. S Quicl 9

(S ]

4. H. S Q@ cla|

Options :
1. % 1

2.% 2
3.¢3
4. % 4



Question Number : 32 Question Id : 39226623592 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Raven’s Standard Progressive matrices test is
1. Non-verbal. Group and Paper Pencil test
2 Group. Power test

3 Paper pencil. Verbal test

4. Non-verbal. Performance test

QleRRE ALIe 6g169dR FIT6dd ARl 6208
1. 29109, AIFEe Ie° QIOe 69Qdm Ja1AE!
2. g4 d49iq agdl

3. QU9 69949, QI0R JIKE]

4. AQIGR. @C AQIYE

Options :
1.v 1
2.% 2
3.% 3
4. % 4



Question Number : 33 Question Id : 39226623593 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
One of the following is not a correct statement
1. “Ability” refers to the current state of a person

2. ‘Achievement’ refers to the past stage of a person

(S

‘Aptitude’ refers to the future stage of a person
4. Attitude scale was developed by Stanly Hall
FINYS F1RIQ 6315~ A0R QB 96L

1. 'QQ0! 964 QIBQ AR AQAIq QU
2. 'QEQ Q@A UQIG AQIg QI

'geal’ Q1aa Qe 2] 9XId

(b

4. Q2w FIQ F6QI9R 6AM TRFC QIR

Options :
1. % 1
2. %2
3.%3
4.9 4



Question Number : 34 Question Id : 39226623594 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0
One of the following is not a correct pair
1. Kretschmer - Germany
2. Spranger - Switzerland
Hippocrates - Greek
Sheldon - USA
ARG ARIQ 63T AOR 641G 964

fad

.

1. 6999 - «€q1
2. QP - GRS
3. @6UI9I59 - 9iR

4. 6dReQ - USA

Options :
1. % 1
2.2
3.% 3
4. % 4



Question Number : 35 Question Id : 39226623595 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

One of the following is not related to “Ink blot test’

1. It 1s designed for adults

2. It 1s a projective test

3. It consists of five white and five red cards

4. There 1s no particular time to conduct this test

QUNYS 1IQ 631G 'QIR 8T AAIVE' AR AYRQ Q6%
1. 991 QUQw JIR 29108 FAUARS

2. QI YR g68Ial aQIgd

3. 86Q 56 Rl B 56 AR QI 928

4. @ U919l 999l dIn eql€d Gaa aqg QI

Options :
1. % 1
2. %2
3.3
4. % 4



Question Number : 36 Question Id : 39226623596 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

‘A Clerk has shown his anger towards officer on to the files.’
This 1s related to the defensive mechanism

1 Compensation

2. Withdrawal

3. Regression

4, Dispalcement

AT 96 6qRIG QUSRI TIRNER 6Q6IRal | NO0I6R

21C10Q 6R1SRG

1. LI
2. davieia
3. AfQ AR
4. QIS
Options :
1. % 1
2. % 2
3.% 3

4.9 4



Question Number : 37 Question Id : 39226623597 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the correct statement from following

a A student learned the plural of ‘book’™ as ‘books’.
learned the same plural of “pen’ as ‘pens’. This relates
to positive transfer

b: A student learned ‘but’ and it pronounced as ‘but’. In
the same way he learned “put” and pronounced it as

‘pat’. This refers to positive transfer
I: a. b both are correct

2. a. b both are incorrect

(S ]

‘a’ only correct

ofas

‘b’ only correct

FARgeq 40Q @@ 590 @

a:  'book'@ Q@ge9Rq 'books' NIER AUAR @RS e,
Pen'@ QYRPE 'pens’ WICQ dom | 99 deUIR
IRI2slq 4] |

b:  'butq ' QIR AVQG AL ddel, ‘put’ § 'AIG’
6QIm SigiMI 1 921 ARAUAR LIQIBASIQ JOIN |
1. abeead]
2. a, b QU 9m
3. 6@ea ‘a’ OQ
4. 6@ew ‘b 0@
Options :
1. %1

2. % 2
3.¥3



4. % 4

Question Number : 38 Question Id : 39226623598 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

One of the following is NOT related to ‘Bruner Theory of
Instruction’

a. Priority should be given to Student’s self-learning

b. Learning material is important rather than method of
teaching

L. ‘a’ only

2. ‘b’ only

3. a and b are not correct

4. a and b are correct

FORGO AUQ 661G 'gRae FBIQIR 0] 426 ARG gL
a.  dQeig 919 S98 AR 2@ e QAUD Qe

b. JAQIe 98% afese Ja4 AING 99 2R e QLS

(el [RNS I
1, 6@RQW “a’
2. 6@Q® ‘b’

3. axe°ba0R 96w

4. a9e°b Qg 909

Options :
1. %1
2.9
3.% 3
4. % 4



Question Number : 39 Question Id : 39226623599 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Identify the wrong statement

i Despite the experimental extinction of conditioning is
done. conditional reflex may occasionally arise

- Usage of conditioned response as conditioned stimulus
is called higher order conditioning

fad

The higher the reinforcement the stronger the
conditioned response

4. Unconditional stimulus 1s continued after conditioned
stimulus. the conditioning will be stronger
QM QE6 526 @9 |

. 9B 6L JaIN9g IS Q6@ F14. 6Q6R6a6R
gaiae goqal 94 6Qixelg

2. QUEC goruiq fYa6 aw1del QIN6A QIeRIQ @aIdel]
QRS 719 I8 QI

fad

JRARR 696G 2@ 629, 0AC 9oTYl 6960 9F 629

4. gai9e QR1del 6991 J6a JIFe Q@1Ae! QI Agen
Q8 JAIAIR 2R FBHIR1 6LQ1R2Ng

Options :
1. %1
2.9
3.%3
4. % 4



Question Number : 40 Question Id : 39226623600 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

According to ‘Kirk’. identification methods for Learning
Disability are

a. Medical Tests

b. Professional skills Test

C. Study of family. School and Environment

d. Study of behaviour

FS AU, FAS 2VAGIY 526 *AQ ING 6298
a. Qe asl

b. Q&Ie 6w Aol

c. JOQIQ, QIR B A6 2GR

d. 2IPQEl 2y

1. a,c.d
2 b.c.d
3. a,.b,c
4. 4,5 d
Options :
1.v1
2. %2
3.% 3
4. % 4
Section 4
Section Id : 392266765
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 24

Number of Questions to be attempted : 24



Section Marks : 12

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 392266880
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 39226623601 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Q. QELQLIQ S0l QO QTR QR LIS IR -

1. @GO
2. @ILlElN
3. 9F

4. Qo

Options :
1. % 1
2. % 2
3. % 3
4.9 4

Question Number : 42 Question Id : 39226623602 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
4o 609118 e ARIRR L@ QI
ARIFIQ Q162
2. 926 g
3. QAR
4. 2RIQINQ 3G B 06Q 671 QIR

L-uﬂ.

Options :
1.¥ 1
2. %2
3.% 3
4. % 4



Question Number : 43 Question Id : 39226623603 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

FIGIA &Gl 2 QR TATQ — @FCIEQ @Q ANARGT L
QUEQE 6QARG -

1. Qlg QIF @A

2. g2l 252 604G QIS G FAQ

3. 99i6Q S197 QUK

4. Q6RE6Q QIXA KAQ!

Options :
1.¥1
2.% 2
3.% 3
4. % 4

Question Number : 44 Question Id : 39226623604 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

AP QLING! I VPG 64FIG ATl 62IR 212G @ 7' 98
QA0 RL8S -
1. @1
21y
L.
Qql
621QR|

W N

Options :
1. % 1
2.% 2
3.¥3
4. % 4



Question Number : 45 Question Id : 39226623605 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

AR IRTQ 2 -

1. J0eEe
2. JO@aq!
3. 903

4. QIS

Options :
1.9 1
2. % 2
3.% 3
4, % 4

Question Number : 46 Question Id : 39226623606 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
YR’ — 9LIQ IR

)

0ge

2193

4. QU9

Options :
1. % 1
2.2
3.% 3
4. % 4

ol o



Question Number : 47 Question Id : 39226623607 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

QRRIER G 6FIZR YRR GRQ 126q ]l 'ARR’ da%a awld
2l 62Q -

1. 99

2. 99
3. QHQ
4. <ien

Options :
1. % 1
2.% 2
3.¥3
4. % 4

Question Number : 48 Question Id : 39226623608 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

'AFIE FARQ AGI' - NLIQ IRUER YRS RER -
AR

QAR

aiatel

@il

. B R

Options :
1. % 1
2. % 2
3.% 3
4.9 4



Question Number : 49 Question Id : 39226623609 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
gl 99 ‘T gNAIS IR -
1. QoY

2. 699

3. QNG

4. QIQIQ

Options :
1. % 1
2.9 2
3.% 3
4. % 4

Question Number : 50 Question Id : 39226623610 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Q618 CRIQ G| ARG -
1. 9RINe
gRIQe
@I
£
‘Egﬁ"-llﬁ@

-l S

Options :
1.% 1
2.% 2
3.3
4. % 4



Question Number : 51 Question Id : 39226623611 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

QISR B4R FIRQL — 90I6Q ‘@D’ IR
1. RIICR IS

2. QIERIOR Q6aAY

3. SIOQIee Gesay

4. QORI QesIaN

Options :
1. %1

2.% 2
3.¢°3
4. % 4

Question Number : 52 Question Id : 39226623612 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

JRISadie IRl QIGIRe dgl 62 | \9g6Q g9l ‘ARl QT IR
1. dikigel

2. Aegl

3. gaigl

4. 23R G

Options :
1.¥1
2.% 2
3.% 3
4. % 4



Question Number : 53 Question Id : 39226623613 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
AR AYQE 2P UL Q0Q" 9Z6Q RIS QT IR -
JedQ Qe8ITEl
A QAR Q65T
JAGIFIQIOR 65!
JAsIRIoD Q68T

e e N =

Options :
1. %1
2. %2
3.% 3
4.9 4

Question Number : 54 Question Id : 39226623614 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

AR A

aalala]

QIFRR
4. QO

QeQI] F1RIQ 21714 FAU ARG -
| £
2z
3.

Options :
1. % 1
2.% 2
3.% 3
4.9 4



Question Number : 55 Question Id : 39226623615 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Yl @ 699Q19a ML JQ -
1. A

2. oS
3. 2ealo
4. 4
Options :
1.¥ 1

2.% 2

3.% 3

4. % 4

Question Number : 56 Question Id : 39226623616 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

AlF] F26M, “0F FE 6ARIFIFR16R 6GERR"- IRl IR
1. 9o QURY

2. 6Ql5R QUM
3. @0@ QY
4. Q0o QY

Options :

1.% 1

2.% 2

3.3

4. % 4

Sub-Section Number : 2

Sub-Section Id : 392266881
Question Shuffling Allowed : Yes



Question Number : 57 Question Id : 39226623617 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
26Q QLG gl QIS BIR LAS 2RI 998 Al 6NN
1. QN

2. <&@

3. Q®Q

4. ClgRIgl

Options :
1. % 1
2. % 2
3. % 3
4.9 4

Question Number : 58 Question Id : 39226623618 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

2 6541 TR S99 40 QUG AT AIER 2SAFR! R FI6
JelQ Q&g -

1. el

2. Qg4
3. 2|
4. Q4

Options :
1.¥1
2.% 2
3.% 3
4. % 4



Question Number : 59 Question Id : 39226623619 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

QAT 69G6Q 98! 9@ FOR IFl
1. Q0K
2. Qe
3. g
4. Q2AQ

Options :
1. % 1
2.2
3.% 3
4. % 4

Question Number : 60 Question Id : 39226623620 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

JRFIeg @08 90a 2 9IRS 98° 4 J6aid 6qldR STl
J6Q Jige 9@ QAT R AGG -
1. SIGRIYIE 4QQ YOR
2. QIgRIgIT R1QQ AOR
3. QILRILIE @RTIe AOR
4. FGRIYIF I8 6 AV
Options :
1. % 1
2.2

3.% 3
4, % 4



Question Number : 61 Question Id : 39226623621 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

2 JRNQIR JQS AAAER dRE G FINGHIRR FaI -
1. 9IQY IOYIeS

2. 9y
3. dQe
4, AY

Options :
1. % 1
2. %2
3.% 3
4.9 4

Question Number : 62 Question Id : 39226623622 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

J9e AR U6 QeF! Yl dIR JNG I - LR
2ASRD
1. 9ORIAW QOQ!
2. €98 Q0a
3. Q6RdING QOQ)
4. QUEMNNR QORI
Options :
1. % 1
2.2

3.%3
4, % 4



Question Number : 63 Question Id : 39226623623 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

6R60I5 IRg 670 APERT SAYS! AR TNIF K2R — 21 IR

1

2
3.
4

216Q4lIR MSR
daQIie Mee
ARSINR MR
EQRING PSR

Options :

1. %1
2. % 2
3.¢¥3
4. % 4

Question Number : 64 Question Id : 39226623624 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

ISR LSRG, 2IFL 6 I 2NBIYFY AW K4S
62T — I2IQ AMGT QEXH

1

2
3.
4

RSN
myiae
eqllgi@ Il
IR 621

Options :

1. %1
2.9 2
3.% 3
4. % 4

Section 5

Section Id : 392266766
Section Number : 5

Section type : Online
Mandatory or Optional : Mandatory



Number of Questions : 24

Number of Questions to be attempted : 24

Section Marks : 12
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 392266882
Question Shuffling Allowed : Yes

Question Number : 65 Question Id : 39226623625 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the declarative form of “What a great performance’!
L The performance. what a great one!

2 The performance is great.

3. How great is the performance!

4, What a Great 1s the performance.
Options :
1. %1
2.¥2
3. % 3
4. % 4

Question Number : 66 Question Id : 39226623626 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

They play basketball every Sunday.

Choose the negative form of the sentence above.

1. They does not play basketball every Sunday.
2. They did not play basketball every Sunday.

(8]

They do not play basketball every Sunday.

4. They do not plays basketball every Sunday.

Options :
1. % 1
2. %2
3.3
4. % 4



Question Number : 67 Question Id : 39226623627 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the adjective that can not be used in superlative
degree.

1. beautiful
. industrions

talented

fad

4. universal

Options :
1. % 1
2.% 2
3.% 3
4.9 4

Question Number : 68 Question Id : 39226623628 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Several of the girls are beautiful.

In the sentence above. ‘several’ 1s

1. an adjective
2. a pronoun
3. an adverb
4. a preposition
Options :
1% 1
2.92
3. % 3

4.% 4



Question Number : 69 Question Id : 39226623629 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

I'm afraid I must ask you both what (do) yesterday at
10.20 pm.
Choose the option that fits the blank.
L. did you
2. you were doing
3. were you doing
4. did not do
Options :
1%
2.¥2
3. % 3
4.% 4

Question Number : 70 Question Id : 39226623630 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The radio has been playing since 7 am. I wish someone
(turn) 1t off.

Choose the option that fits the blank.

1y would turn
2. will turn
3. rn
4, has been turning
Options :
1.¥ 1
2. % )
3% 3

4, % 4



Question Number : 71 Question Id : 39226623631 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
He dwelt effective communication media in modern
society.
Choose the preposition that fits to blank.
L by
2. on
3. to
4, in
Options :
1. % 1
2.¥2

3. %3
4. % 4

Question Number : 72 Question Id : 39226623632 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

[ congratulated the winners in the competition the
principal

1 in behalf of

2. on behalf with

3. for behalf of
4, on behalf of

Options :
1. % 1
2.% 2
3.% 3
4. 4



Question Number : 73 Question Id : 39226623633 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Identify the word with a silent *d".
1. dash
2. dolphin
3 Wednesday
4. direct

Options :

1. % 1

2. % 2

3.¢3

4. % 4

Question Number : 74 Question Id : 39226623634 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the word that comes before the word ‘month’ when
the words are arranged in alphabetical order.

[ mathematics
2. mother
3. mutter
4, mould
Options :
1.¥ 1
2. % )
3% 3

4, % 4



Question Number : 75 Question Id : 39226623635 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

I have little money left. let’s have dinner in
restaurant.

Choose the correct set of articles that fit the respective blanks.

T %4
2. a. an
3. the. the
4. an. an
Options :
1.1
2. % 2
3.% 3
4. % 4

Question Number : 76 Question Id : 39226623636 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

I bought steel produced at Visaka Steel Plant.
Choose the article that fits the blank.
1. a
2. an
3. the
4. No article 1s needed
Options :
1. % ]
2. % 2
3.9 3

4.% 4



Question Number : 77 Question Id : 39226623637 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

‘The Lost Child” is a short story by
i Ruskin Bond

2. Mulk Raj Anand

3. Roald Dahl

4. Somerset Maugham

Options :
1. % 1
2.9 2
3.% 3
4. % 4

Question Number : 78 Question Id : 39226623638 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“The Selfish Giant” by Oscar Wilde is a story that explains the
theme of

l. identity
Z, Hard work
4. Jealousy
4, generosity and kindness
Options :
1% 1
2.% 2
3. % 3

4.9 4



Question Number : 79 Question Id : 39226623639 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

In an essay. a thesis statement accomplishes the following.
1. Introduce the main points of the body paragraphs
Z. Provide a summary of the conclusion
3 Present the main argument or central idea
4, Offer suggestions for further research
Options :
1% 1
2. % 2
3.¥3
4.% 4

Question Number : 80 Question Id : 39226623640 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the technique that 1s used to hint at future events or
oufcomes in a story.

1. Procrastination
2, Foreshadowing
3. Flashback
4. Red herrings
Options :
1. % 1
2.2
3. % 3
4. % 4
Sub-Section Number : 2
Sub-Section Id : 392266883

Question Shuffling Allowed : Yes



Question Number : 81 Question Id : 39226623641 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The level of cognitive objectives that involves the ability to
understand the mood of the writer 1s :

1. knowledge
Z. comprehension
3. Application

4. Evaluation

Options :
1. % 1
2.2
3.% 3
4. % 4

Question Number : 82 Question Id : 39226623642 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Select the incorrect statement about the nature of the English
Language.

1. English 1s a static language and never changes
2. English is influenced by various languages over time.
3. English is a complex and evolving linguistic system.
4. English is affected by culture and social factors.
Options :
1.v' 1
2. % 2
3.% 3

4.% 4



Question Number : 83 Question Id : 39226623643 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Enabling the students to use appropriate technique in different
types of writing 1s an objective of teaching

1. prose
-
2. poetry
3, drama
4, composition
Options :
1% 1
2.% 2
3. % 3
4.9 4

Question Number : 84 Question Id : 39226623644 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The structure of a sentence is :

L, arrangement of syllabus
2. arrangement of alphabetical order
3. meaningful arrangement of words
4. order of adjectives

Options :

1. % ]

2.% 2

3.¥3

4. % 4



Question Number : 85 Question Id : 39226623645 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The English Teacher’s Kit is useful to:

1. develop a set of easy to use material

2. score more marks in entrance examinations
3. measure the mterests of students

4, organize events like annual day
Options :
1.¢ 1
2. %2
3. %3
4. % 4

Question Number : 86 Question Id : 39226623646 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Curriculum i1s:

1. a plan that provides learning opportunities
2. a plan that shows how to teach a lesson
3. a test that aims at physical strength
4. a book that has all topics of science
Options :
1.¥1
2.% 2
3. %3

4, % 4



Question Number : 87 Question Id : 39226623647 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Oral Method of teaching was proposed by:

) Henry Sweet
2. Edward
3 Hymes

4, Harold E Palmer

Options :
1. % 1
2. % 2
3.% 3
4.9 4

Question Number : 88 Question Id : 39226623648 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

One of the following is not a psychological factor that affects
second language acquisition :

1. Ambience
2 Motivation
3. Aptitude
4. Attitude
Options :
1.9 1
2.% 2
3.% 3
4. % 4
Section 6
Section Id : 392266767
Section Number : 6
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 24

Number of Questions to be attempted : 24



Section Marks : 12

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 392266884
Question Shuffling Allowed : Yes

Question Number : 89 Question Id : 39226623649 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Multiplicative identity for whole numbers

Jé IR YEIAR AR
1. 6°— 8°
3 (2023 -2024)""
e 5. 2
3. —+ =
roalv
.
g
Options :
1. % 1
2. % 2
3.3

4. % 4



Question Number : 90 Question Id : 39226623650 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The greatest 4 - digit number that is exactly divisible
by 16. 20, 24 is
16, 20, 24 9IQI Q69 QUES YRR 62Q2QI I AT QIRC]
Qe

1. 9960
2 9720
3 9840

4. 9920
Options :
1. % 1
2. %2
3.¢¥3
4. % 4



Question Number : 91 Question Id : 39226623651 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

A car takes 1 hour 40 minutes to reach the destination by
travelling at a speed of 60 kmph. If the car travels at an exfra
speed of 20 kmph. number of minutes in advance will it reach
the destination

9@ Q9 Q4ig 60 @.F. 6Q96Q 96 @9 J8 ARER ULEQ
AR 1 Q8 40 G969 A9 G0 | 9@ 698 QIO Qaig
20 @61 2R 62968 96 @69, 6369 VIRl 6265 HRY @ JBN
JR6Q JLEQ

1. 15
2 20
3. 25
4. 30

Options :

1. %1

2.% 2

3.¥3

4. % 4



Question Number : 92 Question Id : 39226623652 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

The amount to be repaid on ¥ 12000 at 2.5% per annum
simple interest after 2 years

312000 SR QIR 2.5% ARIQS QX 2106Q 2 Q¥ IR 64
67116 O

1. T 12600
2 < 12800
3. < 13000
4. < 13200

Options :

1.v1

2.% 2

3.% 3

4.% 4



Question Number : 93 Question Id : 39226623653 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the quadrilaterals in which the diagonals are
perpendicular and bisect each other.

1. Parallelogram and Rectangle
2. Trapezium and Rhombus

% Square and Rectangle

4, Rhombus and Square

Q4gER J09a AF ANTULR A 999RIR] 99¢ Qa
1. JIFIBAR 694G 9Q° 2IPC6IQ
. QIdGAE] 9e° g4
3. QU689 IQ° 2IYe6aQ
4. QF99e° QOl6RQ
Options :
1. % 1
2.% 2

3. %3
4.9 4



Question Number : 94 Question Id : 39226623654 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

If the number of faces and vertices of a polyhedron are 20. 12
respectively. then number of edges 1s

@ QU TRRQ YY 9e° I Gl DlPEd 20, 12 6263
QIR IR A

1 32
2 30
3 22
4 20

Options :

1. % 1

2.2

3.% 3

4, % 4



Question Number : 95 Question Id : 39226623655 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

£P 1s equal to its complementary angle and ZQ 1s equal to its

supplementary angle then £P:ZQ0=
£P N2IQ AQYAR 6@lsl 42 QIR 9Q° L0 1LIQ ﬁ@ﬂﬁﬁ? 6QI&]
de dAIQ 696m LP: L0=

1. I =3
2. |
3 2 %1
4, 31
Options :

1. %1

2.9 2

3.%3

4. % 4



Question Number : 96 Question Id : 39226623656 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

All the diagonals of a regular hexagon ABCDEEF are
intersecting at ‘O’. Then £40C =

ABCDEF QIFIQ @ Q¢ §Q99Q 9604R @4 ‘0° 06 6809
@9 | 606Q LA0C =

1. 120°
2. 60°
3. 450
4, ol ]

Options :

1.v1

2. %2

3.% 3

4. % 4



Question Number : 97 Question Id : 39226623657 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

] .
If x= : then the value of 2x(4x—=5)+7 1s

ad x=% 666@ 2x(4x—5)+7 Q Ay

& =

9

3. ==

9

. 13
i 1

3

41

" P

9
Options :
1. % 1
2.% 2
3.% 3

4.9 4



Question Number : 98 Question Id : 39226623658 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

37 x10° x5
Valueof ——————— 1s
i o
37 x10° x5
— Qe
57 %67 l
]
1. -
2
2 2
3 5
|
4, —
3
Options :
1.v 1
2. % 2
3.% 3

4, % 4



Question Number : 99 Question Id : 39226623659 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

1 41,
If x+—=235, then value of —— 1s
X X
= xt+1
A@x+-=5, 6660 T Qgmy
X 2 o
1 23
2 27
3 25
4, 28
Options :
1.¥ 1
2.% 2
3. % 3

4.% 4



Question Number : 100 Question Id : 39226623660 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The perimeter of a rectangle is (4x—8) and its width 1s (x—5)

then length of the rectangle is

9@ 290 6590 Q1 (4x —8) 9G° gY (x—5) 626R

AR 6Gal
1. 3x=3
s 3x+5
3 3x—13
4 x+1
Options :
1. %1
2. % 2
3.% 3

4.9 4



Question Number : 101 Question Id : 39226623661 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

If a dice thrown once, then the probability of getting
composite number on it 1s

66lIcN RREAITY 2A6RAIG AIFIREM 6IGR Al AR
AR

| by | —

bd | —

|

Options :
1.¥1
2.% 2
3.% 3
4. % 4



Question Number : 102 Question Id : 39226623662 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The following DO NOT have line symmetry

Q¢] 620RRR 691G gOAIT QIF

(M X, 0
2. A.B
: E &
4, H. G

Options :

1. % 1

2. % 2

3.3

4. % 4



Question Number : 103 Question Id : 39226623663 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

4 o 5 ey
A man travelled — of his journey by a train, - by a bus and
3

the remaining 16 km. by an auto. The total distance he
travelled (in km)

@68 Qi@ Qlw 6919 €IGIQ g 2ed 69 %‘m,% 2r8 Q@

GlQl 9Q° 2IRdd 16 @.61. 265! GIRl LGl @6 | 64 gl RQQ!
67118 QQRI(Q.1.6Q)

1 300
2. 2380
3. 240
4, 120

Options :

1. % 1

2.92

3.% 3

4.% 4



Question Number : 104 Question Id : 39226623664 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The height of a cuboid whose volume is 275 cm? and base area
is 25 cm? is (in centimetres)

6QlIoN  ZILOURQ ALER 275 U 64.40., ZRIQQ 6ATR
25 Q.64.61. 626@, 9LIQ APVI(694.61.69)

1. 11
2 15
3 9
4. 12
Options :
1.¥ 1
2. % 2
3.% 3
4. % 4
Sub-Section Number : 2
Sub-Section Id : 392266885

Question Shuffling Allowed : Yes



Question Number : 105 Question Id : 39226623665 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“A hypothesized productive system is Mathematics™ it is said
by

i Bell
2. Maria Pierre
3. Locke

4. Aristotle

‘J0QE0 QP8 N T e 691R LAl QY
L. 63N

2. Q1@ daat

3.

4.  2090R

Options :
1. % 1
2.9 2
3.% 3
4. % 4



Question Number : 106 Question Id : 39226623666 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“Socio Cultural theory” was formulated by

L. Piaget
2 Skinner
3. Vygotsky

4. Adam Smith
‘AN C°YS 9Q'A QARE!

i qeles
2. QeQ
3. GIREGIoG,
4.  AQIa g
Options :
1. % 1
2. %)
3.93

4. % 4



Question Number : 107 Question Id : 39226623667 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The author of the book ‘Karana Kutuhalam’
1; Bhaskaracharya - 11

2. Brahma Guptha

3. Aryabhatta

4. Srinivasa Ramanujan

‘@8 QOIS JRA QDG
L. QUIQUeI - 1T

2. 9999

3. 2dies

4. GIFQIK QUAIQF

Options :
1.¥1
2.% 2
3.%3
4. % 4



Question Number : 108 Question Id : 39226623668 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Play — Way method was mtroduced by

L Anderson

2. Kilpatrick

3. Frederick Froebel
4, Armstrong

Q1 9809 JA9Y KRR QU

1. 2 QAR
2.  QUER
3. 6909 6I6am
4. 09

Options :

1. % 1

2. % 2

3.3

4. % 4



Question Number : 109 Question Id : 39226623669 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The specification ‘Selects appropriate method’ comes under
this objective

1. Skall
2, Understanding
3. Knowledge

4. Application
‘A0R IEG 0O F0QI' WX IE QBRI 4L IS

i e@lslm
2. 2IQ6QI]
3. RS
4, aedIs!
Options :
1. % 1
2. % 2
3.% 3

4.9 4



Question Number : 110 Question Id : 39226623670 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Scientist who considered ‘appreciation’ as a mathematical
value 1s

1 Breslich
2. Young

3 Munnik
4. Schorling

'l IR ISR RIS Q6T QERTE KAl 6ARIGR

L 699@Q
2. O

3. ¢ee
4. 6
Options :

1.¥ 1

2. %2

3.%3

4. % 4



Question Number : 111 Question Id : 39226623671 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Last step in problem solving method

1. Estimate the result
7.3 Checking the result
3. Compare

4, Translating

QA AR AFER 688 6AIAR
L.  ITeg @l AAR

2. IRITRQ % RS

3. Q@0 QQQ

4. AQQIQ Q6K

Options :
1. % 1
2.92
3.% 3
4. % 4



Question Number : 112 Question Id : 39226623672 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

Method of designing the curriculum keeping in mind the needs

and interest of the child

1. Concentric method

-2

Spiral method

[N

4. Topical method

dale 2IQ9Rsl 9e° 2Igeq QE6a ag AIoIFE a9l 9aa!

ARG

1. J6RLR ARG

3, C6QIEARIFR IRG
3. Qe aed

4.  SI9e 986

Options :
1. % 1
2.9 2
3.% 3
4. % 4

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Psychological method

Section 7

392266768
7

Online
Mandatory
24

24

12

0

1
392266886
Yes



Question Number : 113 Question Id : 39226623673 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The major source of Sulphur dioxide and Nitrogen dioxide are

8 Burning of tires
2. Petroleum refineries
3. Air conditioners

4. Herbicides
dnTQ LINAFING I° QIRETI6RR LINAFINLA (6l @ 698

1. ClAQQee
2. 6U6GIRC S6SIRIFIGIR
3. 99IQ R4de

4. QLA

Options :
1. % 1
2.2
3.% 3
4. % 4



Question Number : 114 Question Id : 39226623674 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Salivary gland : ptyalin : : Pancreas : ?
1. Lipase. Trypsin
2. Trypsin, sucrase
3. Lipase, Pepsin
4. Amylase, Sucrase
RARGE : QIR : &ANGG, - ?

1. AIRcdR, 9Ade

3. QI@sAy, 6994q

4. WK, 6K

Options :
1.¥1
2. % 2
3.% 3
4. % 4



Question Number : 115 Question Id : 39226623675 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The structure that prevents entry of food into Larynx 1s
1. Glottis

o Tongue

3. Epiglottis

4. Oesophagus

YREATRIER HM 6267 o6 22 FIOQ 6298

i REFIR
2. =
3.  2RGQ
4. (Sl
Options :
1. % 1
2.% 2
3.3

4, % 4



Question Number : 116 Question Id : 39226623676 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Match the following

A Stomata L Absorption of water
B. Xylem il Transport of food
8 Root hairs [I.  Transpiration

D.  Phloem IV.  Transport of water
Pageq caIe

A el L @Wal 2QEaYE

B. FIREME] I  ¢IYe J60Qee

i (ImEQdl M. Qe4dee

D. 61l IV. Q@QdJ9Qee

I A-LB-IILC-IOI,D-1V
A-TMB-IV.C-LD-1I
3 A-LB-HLC— I, DIV
4. A-TMLB-MC-LD-IV

12

Options :
1. % 1
2.92
3.% 3
4. % 4



Question Number : 117 Question Id : 39226623677 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The part of the brain that controls posture and equilibrium of
body

I Diencephalon
2. Cerebrum
3. Cerebellum

4. Medulla Oblongata
JR10Q QEF IQ° AgRAQ T8 @Q2Ql IAFQ 2°F

L QEQEATIfg
2. gaad

3.  AUQMad

4. QISR

Options :
1. % 1
2.% 2
3.¥3
4. % 4



Question Number : 118 Question Id : 39226623678 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The element in water that controls the metamorphosis of
Tadpole into adult Frog is

1. Iron

2. Calcium
3. Cadmium
4, Iodine

6Q6Igml QU8YIg 696 QU6Q QUIRAE 62Q1dIR FUad AR
alaiagaa|[as

1. 299Q
2. QIRCae
3. @yIeage
4. 26Leq

Options :

1. %1

2.% 2

3.% 3

4.9 4



Question Number : 119 Question Id : 39226623679 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

Correct inference when an animal cell is kept in a salt solution.
i In isotonic solution the cell will shrink.

2 In hypertonic solution the cell will stay in the same size

)

In hypotonic solution the cell swell and rupture
4. The cell dissolves

QRE 9RE6a FI8l1 62197 AlIFEn FAUARARS! A0R FRIQE]
i AFIAIQ GREI6R 6N A°RES 682 |

7 4 2OIS GR6Q Q1Y AR 2RNAER QLS

3. 2RISAIG GREIER 61T FRAIN Q° FITCI

4. 6@l¥ QQ1NG 99

Options :
1. % 1
2. %2
3.3
4. % 4



Question Number : 120 Question Id : 39226623680 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

The character helpful to identify bad quality seed

1. Sinks in water

2. Having round shape

Contain dark colour and texture

(ad

4. Floats on water

SQUA GEIRRl I QLR TL6 RRARIER € RAS ALYR 62IR2Ng
1. Qéiex Qedeal

2. 6ORIRIR G QAL 6Q1R2S

3. 026Q Qg QEf B Gl09 QS

4. EPER RULQI

Options :
1. % 1
2. % 2
3.%3
4.9 4



Question Number : 121 Question Id : 39226623681 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

The food items that contain Vitamin C

L. Liver

1. Mirchi

III. Banana

IV. Tomato

QEIFR C Q! A4 A1)

I. e
II. €89
I1I. @1
IV. @¢eg
1. I III
2. L IV
5 LIV
4. 1100

Options :

1. % 1

2.¥2

3. %3

4. % 4



Question Number : 122 Question Id : 39226623682 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The speedometer in vehicles record the speed

1. CIV/'S
2. ny's

3. m/min
4, km/h

AIRAILAEQ QI FERIFCAER 6391 12J6Q PRI

1. 64.71./ 64,

)
.

2. 64.

=
S
<)

3. aQ
.

Q./

£))

4,

Options :
1. %1
2. % 2
3.% 3
4.9 4



Question Number : 123 Question Id : 39226623683 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Combination of the two or more electrical cells is called

1. MCB

5.4 Fuse
3. Circuit
4 Battery

Q@ @7l GELIYR 6TIFR 6RIQ FiFEIR 1Ll QLI

8 MCB
2. g
3. doge
4. e
Options :
1. % 1
2. % )
3.% 3

4.9 4



Question Number : 124 Question Id : 39226623684 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Naphthalene balls that are used to repel moths are obtained
from

1. Coke
2 Coal
3. Coal tar
4. Coal gas

2g 20IRQ! IR NLLE 62RQl ATARY el 12 GAUR
QAU

L.  6RQ
2.  6RIM
3. 6QIR o

4. 6N

Options :
1. % 1
2.% 2
3.¥3
4. % 4



Question Number : 125 Question Id : 39226623685 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Correct order of frictions.
X.  Sliding friction

Y.  Rolling friction

7 Static friction
ddaq d0R QeI

X, Y& Qg4

Y. Q@8 Qdd

7. 64909 Qs

L. XY <Z
2 Y<Z<X
3. Y X</

43 X<ZL<Y
Options :
1. %1
2.% 2
3.¥3
4. % 4



Question Number : 126 Question Id : 39226623686 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Strongest Fibre among the given fibres

L. Wool
2, Polyster
3. Silk
4. Nylon
QR 039609 da 63
L. ddlel
2. d@€q
3. 6]
4. MR

Options :

1. %1

2.% 2

3. % 3

4.9 4



Question Number : 127 Question Id : 39226623687 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

Identify the fruit that is not exported by us from the following.

1. Mango

12

P‘mnegrauate

L |

Dragon fruit
4. Banana

QAR 2661 QYIF RQRAQ TR 06 A9

1. ag
9, e
3. QEQOR
4. @um1
Options :
1. % 1
2. % 2
3.¥3

4, % 4



Question Number : 128 Question Id : 39226623688 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A Device used to protect buildings from the effect of lightning

1. Seismograph
2. Electroscope
: Tester

4, Lightning Conductor

QIS RIS 62101997 98l @AG! dif IOLE IR QUL
L Q@ ERelQT
2. Q9IQ QEQ
3. 6649
4. QgR QRe
Options :
1. %1
2.% 2
3.% 3

4.9 4

Sub-Section Number : 2
Sub-Section Id : 392266887
Question Shuffling Allowed : Yes



Question Number : 129 Question Id : 39226623689 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This 1s not a component of substantive structure of science
structure

1. Concepts

3, Theories
3. Methods
4. Laws

QRIS AFIG6Q ANFR FORR L IR 2°E G6L

1. 2l
2, A
3. 996
4. Qa¢

Options :

1. % 1

2. %2

3.¢¥3

4.% 4



Question Number : 130 Question Id : 39226623690 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Sharing of learners opinions based on key words will be done
in this stage

1. Conceptual understanding
2 Conduct activities
3 Demonstration - discussion

4, Mind mapping
JMINGRY BaRa JdAdis A9 ANNYRR FAUDQ 98

AYILER AT
1. Q4 2196l
2. QI9RId 98Iee!

gedio - 2RI

(d

4. c16Q1 @QYId

Options :
1. % 1
2. %2
3.% 3
4.9 4



Question Number : 131 Question Id : 39226623691 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“Unit 1s an elaborative concept which is inter related in nature™
is defined by

1. Preston

2 Willbert

[ ]

Bosing

4, Card well

'YRNTR NES LR A°AR I IR IGE QGG FaT FRIAN"
@ QI @Qejem

1.  6949Q
2.  ERQIQ
3.  6QIder
4. QIS 64

Options :

1.v1

2. % 2

3.% 3

4.% 4



Question Number : 132 Question Id : 39226623692 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A student explained the relation between beak shape and food
habits of birds. The objective achieved by this 1s

1. Knowledge

2 Skall
3. Application
4. Understanding

@68 dglel a9 24 2N 99° I D FRIQ AR €G!
QRQClen | 92! FIQl 21dR 62R2R! AEREY

1. RIQ
2. 6@l
3. AarNe (8
4. 2IQEQI
Options :
1. % 1
2. % )
3.3

4, % 4



Question Number : 133 Question Id : 39226623693 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

First step in 5 - E model of leamning

1. Evaluate
2. Engage
2 Explore
4, Explain

5 - E 9941 2gQIa gl 6
L JRUES QA
2.  G6UIGe QQQl
3. 2eQus Rl

4. QIS RAQ!

Options :
1. %1
2.92
3.% 3
4. % 4



Question Number : 134 Question Id : 39226623694 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

This 1s used to evaluate science textbooks keenly

L Vogel evaluation tool

2. Thurston evaluation tool

Termon evaluation tool

fad

4. Long field evaluation tool
QRIQ AOIYARQ AEEG (RIILE @G DRl 921 QIFLE QAU
1. 6WIECIm FImilda 11

2. 2dQ JRuIge AT
3. 64IQ gRuIAR AIaQT

4. QF IRQ AL AR

Options :
1.v 1
2. % 2
3.%3
4. % 4



Question Number : 135 Question Id : 39226623695 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
This 1s not a character of Analytic Rubrics used in evaluation
1. contains concepts to express clear responses

2 useful for making student profile

(ad

less priority for creativity
4. easy for teacher

RIILAER YR FEHTSIFIR QEFA 9@ RVS @6L
1. Q4 goqal gald @4l dIadl a@eld

2. &Pl 691N SRR KG9 AR QU6KIG 99
3. deediegl AR 9 999 9@l

4. e AR 9eF 621N

Options :
1. %1
2.% 2
3.%3
4. 4



Question Number : 136 Question Id : 39226623696 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

After reading APJ. Kalam'’s biography. he too decided to work
with dedication. The scientific value obtained by him is

utilitarian value

2. moral value

fad

4, intellectual value

AP] @aifle 1991 dEQl d69, 64 flil QAIQ 42 QIF QAQIQ

scientific attitude value

Q6 69Rgem| 64 JL8 @Q2Ql 6TRIFR FJMIeSI

I YQLRe Fmieai

2. 600 gmisal

fad

4. 6QlEAQ ARYeQl

6RRITD AR FIRIEIN

Options :

1. % 1

2.¥2

3.%3

4. % 4

Section 8

Section Id : 392266769
Section Number : 8
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 24
Number of Questions to be attempted : 24
Section Marks : 12
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 392266888
Question Shuffling Allowed : Yes



Question Number : 137 Question Id : 39226623697 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The island of ‘Diu’ is relatively near to this state

1. Karnataka
2. Goa

3. Gujarat

4, Kerala

‘R 91< 99 QRN 26 Afgeq 28

1. @4lieR
2. eallel
3. geaIe
4. SN

Options :

1. % 1

2.% 2

3.¥3

4, % 4



Question Number : 138 Question Id : 39226623698 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

These forests are the habitats for Lion — tailed Macaque

1. Dry deciduous forests
2. Evergreen forests
3 Mountain forests
4, Mangrove forests

d°g gg 7IeQ Qld @Q2el aFR
L 99 Jg%e aFa

2. 90200 oom

3. QIN9IY FR

4. 6Y3Im Polm

Options :
1. %1
2.92
3.% 3
4. % 4



Question Number : 139 Question Id : 39226623699 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The state that shares its land frontiers with Myanmar and
Bangladesh 1s

1. Tripura

2 Mizoram
3. West Bengal
4. Assam
ARG B AFRIEQE AL Q-UQLQ ALEQI QAIFY
1.  GJal
2.  Cewique]
3.  Q8aQer
4. 2l
Options :
1. %1
2.9 2
3.% 3

4.% 4



Question Number : 140 Question Id : 39226623700 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The famous book ‘Madhuravijayam’ was written by
1. Tallapaka Timmakka
2 Atukuri Molla
3. Gangadevi
4, Nagalamba
d4e Q19 @Q2Q! ‘TRIQI YeA gL Q9Ls!
L QRQe GAIRI
Z, a1 celiw
3. QlEfcQQ

4.  QICIIE

Options :
1. % 1
2.% 2
3.¥3
4. % 4



Question Number : 141 Question Id : 39226623701 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

He was the Governor General of India when the Permanent
Settlement was mtroduced

1. Warren Hastings
2. Cornwallis

24 William Bentinck
4, Dalhousie

SRRl R6RIAY Q10 ORI AAEAER NG RN 6T6RAUR
1. Queeq 6986d

2. Q4R

3. Qomd 6Qde

4. oaQIed

Options :
1. %1
2.92
3.% 3
4. % 4



Question Number : 142 Question Id : 39226623702 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

According to Wood’s Despatch. the British government
established universities in these cities

1 Bombay, Madras, Calcutta
2. Hyderabad. Delhi. Kanpur

(8]

Banaras. Srirangapatnam

4. Bombay. Calcutta. Delhi

‘AQd @9UIQ’ AQIIER G54 AARIQ 98 ILAGFRER FISQUIRG
AIQ 969 aQlem

1. Q64 FI9IR, YRRG!

2. QIRQQQIQ, @R, K199

3. QQleg, §1aeralcde]

4. Q6% NG9, Qa1

Options :
1.v 1
2.% 2
3.% 3
4. % 4



Question Number : 143 Question Id : 39226623703 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

Ashoka’s inscriptions on Kalinga war were found on the rock
edict no:

Zedins AGAIAea 98 Q70 JRIEANQ 9AT g8 A°UR6
FEIAZER

1. 9
2. 15
B 11
4. 13
Options :
1. %1
2.% 2
3.% 3

4.9 4



Question Number : 144 Question Id : 39226623704 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the correct statements related to E.V. Ramaswamy
Naicker from the following

He 1s well-known as Periyar
He came from upper class family

He studied Sanskrit scriptures carefully in his early life.

O N W e

He supported Hindu Scriptures
Q91Q E.V. QIEI9I91 QIaees 9°d@e 0@ SIgeq 096 @9

A 696009 QI6Q 4UQRe
B. 6400 d099Q aideen

C. QPQQINISIEa @ e FR9eq IR 2UaR
FAER

D. @9 909eaa arde at2en

I; A.C
2. B.D
3 A.B.D
4. A BG
Options :
1.¥1
2.% 2
3.%3

4. % 4



Question Number : 145 Question Id : 39226623705 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The Fundamental Duties were added to the Constitution of
India in this year by the 4224 Constitutional Amendment

42 991 ARG EHRIS FIAl 691ae FAMFEY @ A QUG
AARAFER 6519 RSN

| 1976
2. 1978
3. 1982
4, 1984

Options :

1.v 1

2. % 2

3. % 3

4. % 4



Question Number : 146 Question Id : 39226623706 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

The Muhammadan Anglo Oriental College was founded by

L Mohammad Ali Jinnah

2. Sayyid Ahmed Khan

2. Khijir Khan

4, Fazl Ali Khan

LAY 266 BALIR ALATNMIRAR JOIIS!

1. ALFQ 2n S
2. Q9Q ULAQ HIQ
3. gaq I

4. IR AR MY

Options :
1. % 1
2.92
3. % 3
4. % 4



Question Number : 147 Question Id : 39226623707 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

He was the only President to be re-elected for the second term
i Dr. Sarvepalli Radha Krishnan

2, Dr. APJ Abdul Kalam

a K.R. Narayanan

4. Dr. Babu Rajendra Prasad

3019 21Q QAR WIS JA8 FATS 62IREQ! IRAIG M@
1. Q. 26QAR1 QRIFIQ

2. @ APJ2Q9m @aI¢l

3.  6R.21Q. IRIAER

4. ©.QIg Ql6eg 9aIQ

Options :
1. % 1
2. % 2
3.%3
4.9 4



Question Number : 148 Question Id : 39226623708 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Oceania covers
I: Australia. Indonesia, Philippines

2. Indonesia. Vietnam. Pacific Islands

(S ]

Australia. New Zealand. Philippines
4. Australia. New Zealand. Pacific Islands

632G AGYQ 2BPD 624

L 2IeAMe, QEsleadell, ﬁﬁ}ﬂm@

2. QBLI6RdR, @MQQIF, AT F19YS
3. Zeqmell, Facmyie, Zc}ﬁama

4. U6ER2, FeeNE, AGTR g1age

Options :
1. % 1
2. %2
3.% 3
4.9 4



Question Number : 149 Question Id : 39226623709 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
It 1s not used by the tailor
1. Bobbins
2 Measuring tape
Machine oil

4. Plum bob
92l 9F QISLIA RQ @ ]I 9

(S

1. QeQ

2 g T
3. G4 60w
4. A 29
Options :

1. % 1

2.% 2

3.% 3

4.¥ 4



Question Number : 150 Question Id : 39226623710 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The crop that requires two hundred and ten frost - free days 1S

1. Wheat

2. Maize
3. Coffee
4. Cotton

QRIL Q4 QVAUIG TR QR 2R R TFAM

1. ClLe]
2. Clal
3. @
4. @dl

Options :

1. % 1

2.% 2

3.% 3

4.9 4



Question Number : 151 Question Id : 39226623711 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Vivekachudamani. Soundarya lahari, Sivananda lahari.
Atmabodha etc... were writings of

E: Ramanujacharya
2. Adi Shankaracharya
3. Madhvacharya

4, Vallabhacharya

Jee@ QRIAE, 6 AL, R RL, 26N 2IQ 1L
QORI

1. QUAIGRISICY
5. G SQlQlEy
3. CRIQIGIEY

4.  QRRISIMN

Options :
1. %1
2.92
3.% 3
4. % 4



Question Number : 152 Question Id : 39226623712 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This is not a part of the *Ashrama System’

1. Grihastha

2. Gnanaprastha
3. Vanaprastha
4. Sanyasa

2 2O MRYI'Q 9@ S Q6L

L. geg
2. ®egd
3. Qegd
4, AR
Options :
1. %1
2.9 2
3.% 3
4. % 4
Sub-Section Number : 2
Sub-Section Id : 392266889

Question Shuffling Allowed : Yes



Question Number : 153 Question Id : 39226623713 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

Marks allotted to an essay question in Summative Assessment for
Class 6™

A9 694l Qi YR 2R @1d Qeedee g4 ale
2194e QAULIREIQ! IR

1. 10
2. 3
3 6
4. 4

Options :

1. %1

2.92

3.% 3

4. % 4



Question Number : 154 Question Id : 39226623714 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The author of ‘The Prince’ 1s

1. John Locke

Z. Rousseau
. Montesquieu
4. Machiavelli

‘Q @@;{ Q2R NG

L Qe
2. Q6
3.  C9dey

4. AIR2lcaM

Options :
1. % 1
2.% 2
3.% 3
4.9 4



Question Number : 155 Question Id : 39226623715 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This method is based on the principle of “Not learning to live
but Leaming through living”

1. Lecture method

2. Project method

3. Problem Solving method
4. Activity Based method

‘QEQI SR Q69 Q8 QEQI AIICER JYal- Y€ I8 U6a HUR
Q2 A8

1. QUMD ARG
2. 998990
3. ACIQY| AR ARG

4. QI 689 980

Options :
1. %1
2.92
3.% 3
4. % 4



Question Number : 156 Question Id : 39226623716 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

“Education 1s a key tool to effectively face challenges and
build a powerful society™ — stated by

1. Jawaharlal Nehru
2, Kautilya

M. Visweswaraiah

(]

4. Amarthyasen

“QUieRGGeq A9el W6 AFHIR 6291 I dRdial AR F0R
QIR S oY AR RNUER ARINRIN 6LIR2IN" - QI REER

3 FQLIANIN 6RELQ
2.  6algay
3. 9. Qeggall

4.  @6Y6dR

Options :
1. %1
2.% 2
3.%3
4. 4



Question Number : 157 Question Id : 39226623717 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

They help to develop teaching and learning skills

A. Seminar
B. Simulation Technique
e Panel Discussion

D.  Work shop
IR 9Q° dF8 ARG QRH6A IYER AT
6LIReIN

A 66919
B. Q6md] 60Q60R
€. AYETR 2SR
D. QI dda
1. A.B.C
2 A.C.D
3. A,B.C.D
4. B.C.D
Options :
1. % 1
2. % 2
3.¢3

4. % 4



Question Number : 158 Question Id : 39226623718 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

‘Kondaveedu Fort’ 1s a
Ji Natural source. written source
2. Historical source, Primary source

Written source. Secondary source

L |

4. Primary Source. Natural socurce

‘6RILINQ Q' IR

1. JI9oe @4, AYe g

2. J021de a9, giefia ad
3. Q%o Q4 991% @4

4. ge0e 94, 9I9oe @4

Options :
1. % 1
2.2
3.% 3
4. % 4



Question Number : 159 Question Id : 39226623719 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

These are used to find out the relationship between Price and
Demand

1. Bar graphs

2. Pie graphs

3 Line graphs
4. Venn graphs
QR IG° QIZQ| F1IEA AR RISIQI AN 9L LA AU
¥ QIR 9IT
2. diw It
3 MR I
4. 6@ It

Options :

1. %1

2. %2

3.¢3

4, % 4



Question Number : 160 Question Id : 39226623720 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“The process of knowing how far the educational objectives
have been achieved 1s Assessment™ said by

1. Benjamin S. Bloom
2! Ralph Tyler
3. NCERT

4, Vidya Vijnan Sarvaswam (1960)

‘6ITR QNN 6R6E 9R ARG 62IRE, WISl ARG @
IPRR 9Ll 2goen

i 6QENTR, 94, QA4

2. QAT 69RR

3.  NCERT

4. QQY Q®IK 99K (1960)

Options :
1. % 1
2.92
3.%3
4. % 4



